13000 GeV pp
T

pndgrlying Event

W [ T | | | ] R
>
g 10 p':ad (nl<25,p >05GeV, p_>5GeV) —
e - .
S
5 B ]
—
Q 1 — —
L i s
> — .
Z | ]
5 B ]
F107 = 3
P — -
1072 £ =
107 & - —
= m ATLAS BT 3
— --f3-- Herwig 7.2.1 default - .
| —a— Pythia 8.308 default . |
107% = 2 =
I | | | | | | | | | | | I
: T T | T T T T | T T T T |:
2 =
0 — .
< - —]
| | ]
S afe —
g 1ot \4/#\4/ i
2 i \\ﬂ _
Toor TR -
0.5 L S
1 1 | " 1 1 1 1 | " 1 1 " 1 " 1 " |
10 20 30

p'Tead [GeV]

Rivet 3.1.10, = 2.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


